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Turing R R, r <B>/

r=({qo, gn}, {B, 1}, K1, qo, {an}), Ki={ qoBBRgn, qol11Rqgn }

<B>=({po, p1, pn}, {B, 1}, K2, po, {p1, pn}), K2={ poBBNph, po11Np1}

R=(Q, {B, 1}, K3, ro, F), Q={ro, r1, r2, r3, ra},

K3={ roBBRr1, rol1Rr1, roBBNr4, r211Nr3, riBBNr2, r111Nr2, r311Nro}, F={r4}
F~({so, sn}, {B, 1}, Ka, so, {sn}), Ka={soBBLsh, sol1Lsh }

S
no

Rr:( {qO! qh’ rOI rl! r21 r31 r4‘}l {B! l}l K51 rOl {Qh} )!
Ks=K3 Ki { raBBNqo, ral1Nqgo}={ roBBRri, rollRr1, r2BBNr4, r211Nr3, riBBNry,
r111Nr2, r311Nro, goBBRqgh, qollRan, r4aBBNqo, r411Nqo }

Rr<B>=({qo, gn, ro, r1, rz, rs, rs, po, p1, pn }, {B, 1}, Ks, ro, {pn}),

Ke=Ks K2 { ghBBNpo, qhl1lNpo}={ roBBRr1, rollRri, roBBNras, r211Nr3, riBBNr2,
r111Nrz, r311Nro, qoBBRagh, qol1Rqgnh, r4aBBNqo, r411Ngo, poBBNph, pollNp1, ghBBNpo,
gnh11Npo }

R
R=( {qo, gn, ro, r1, r2, rs, ra, po, P1, Ph, So, sh }, {B, 1}, K7, ro, {sn})
K7=Ke Kz {pnBBNSsp, phl1Nro}
={ roBBRri1, rollRri, r2BBNrs4, r211Nr3, riBBNr2, ri111Nr2, r311Nro, qoBBRgh,
gol1Rqgn, raBBNQqo, (r411Nqo), poBBNph, pollNpi, ghBBNpo, gnllNpo, poBBNTro,
soBBLsh, sol11Lsh, phBBNsg, (ph11Nro) }
rs11Nqo pnhl11Nro



